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Abstract After this paper ¢’ Ultimate Gravity”’, there won’t be any more scientific papers from me until the Pi value is
changed to 3.125 on all websites/platforms, and its related theories are recognized by the physics community, hence this
could be the last paper. In addition to the relationship between the three major parameters, mass(m), radius(r) and
acceleration due to gravity(g) of a planet, a comprehensive gravity theory should also show how the three majors relate to the
same planet’s rotation and revolution period as impacted by another planet’s presence through curvature. Theoretically,
without the aid of NASA values, a comprehensive gravity theory should likewise disclose all significant parameters and
values for the planet Earth. The gravitational theory in physics is completed by Ultimate Gravity (UG). The complete theory
of gravity, known as UG, is a branch of Ultimate Relativity (UR). It recognizes the Newtonian gravitational theory and a
“curvature description’” from General Relativity as its chapters and describes gravity in its whole from its inception.
Although, UG has been released already in the paper ’God’s Eye: Physics of the Universe’ [2], this UG study is a
condensed, short and sweet version for readers who might find [2] too complex. | created Ultimate Gravity for physicists who
are sceptics and dishonest in the physics community, as well as to finish the gravity theory in physics. These individuals’
faces currently convey humiliation; they have tried, whether on purpose or accidentally, to disseminate false information
about physics, but were unsuccessful because of the publication of UR, and they are now unable to tell the world that they
have been lying to everyone. When individuals questioned the true Pi value of ¢°3.125°’ years ago, | now ask those who still
question it: what advancements have these wrong Pi values (3, 3.14, 3.142, 3.1459 etc.) made in physics and mathematics?
Now if you ask me; what is the proof of the value 3.125? In addition to the Babylonians’ proof of the value, UG is the most
recent of a lengthy number of proofs | have in my papers. The value 3.125 has made significantly greater contribution than the
sum of contributions from other theories in physics. Surprisingly, with UG, the exact mass, radius, acceleration due to gravity,
rotation period, revolution period for planet Earth was theoretically revealed as [5.4 x 10%*kg], [6 X 10°m], [10m/s?],
86400s (24hours), 31104000s (360days) respectively, again without the help of NASA values (observational
values). This is what UR and UG brings to the table in physics. To see how this was accomplished, read further.
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1. Ultimate Gravity

To complete the gravitational theory in physics, we only
need to note two points and develop an understanding from
these points. The points are;

e There is no difference between G and g.

e The “’Energy”’ of stars is supposed to be significant
enough to be represented in a gravitational theory
subject equation.

There was a confusion with the whole unit thing as assigned
by Isaac Newton. Figure 1 is made up of two images (1 and
2), If you can realize the difference between image 1 and 2,
you’ll understand that G is basically g i.e. G and g are the
S same. Regarding the nature of space-time, Figure 1 describes;

Figure 1. Zero G vs Free fall Image 1: Nature of space-time at the outer space (outside a
planet).
] Image 2: Nature of space-time inside a planet.
" Corresponding author: - ; Regarding of the mass involved;
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Published online at http://journal.sapub.org/astronomy e The mass in image 2 is dropping
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If the planet in Figure 1 is Earth and we swap the nature of
space-time in image 1 with that of image 2, it means that the
planet in image 1 will drop downwards with an acceleration
of 10m/s? and the man in image 2 will float with
0.000000000006666666667m/s? as an acceleration.

The reason why it’s called “’Zero G’ at the outer space
is a hidden secret as the Gravitational constant G is also
meant to be represented with the unit of acceleration
(m/s?), thereby revealing another explanation of Gravity.

Figure 2. Default Space-time illustration

Newton said gravity is a force, Einstein said it’s a
curvature of spacetime. | understand what Newton meant by
“’force’’, but it’s just a wrong choice of words. Einstein is
correct about curvature but that’s because of what a bigger
mass does to a smaller mass. However, I’ll tell you where
those explanation from Newton and Einstein came from
with a new explanation for gravity. This new explanation of
gravity is the fact that the definition of gravity is; “’Gravity is
simply the significance of the density (thickness) of space-
time”’. I will use intersecting lines with a thickness which
will represent the default nature of space-time (Figure 2).
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Figure 3. Presence of a mass on Default Space-time illustration

Pay close attention to the thickness of the lines. Now that a
mass is involved, you can observe that the thickness of the
lines around the masses reduced because pressure from the
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masses will stretch/expand the lines (space-time) which will
in turn reduce the thickness. You can also see that the lines
around the bigger mass is not as thick as the lines around the
smaller mass.

G = 6.6666666667 X 10~ 11m3 /kgs?

G =0.000000000006666666667m/s*

Gravity Explanation: The truth that Newton and
Einstein never explained is that G can carry a unit of
acceleration. So, when we say “’Zero G”’, it means that
masses will accelerate downwards with an acceleration of
0.000000000006666666667m/s*> which is basically
0m/s? which implies that the planets are not dropping, this
is why planets float and don’t drop because the default
spacetime nature at the outer space exist with Zero G as the
default. Hence, when masses that big in nature applies
pressure on the default space-time, because the planet will
float and won’t drop an inch, it then creates a curvature as
you can observe in Figure 3. Let’s assume the planets are
dropping, will they be able to create curvatures on space-time?
No. The curvature then affects the movement of any smaller
mass around the planet that creates the curvature, thereby
leading to rotation/revolution of the surrounding smaller
masses. Back to the nature of space-time, if gravity is the
significance of the density (thickness) of space-time and the
default spacetime goes with Zero G, it means that; as the
thickness of the lines (thickness of spacetime) reduces,
Zero G deviates from 0 (increases) i.e. If a planet can float
on the thickness of the default space-time, imagine if a
reduced thickness was present at the outer space instead
of the default thickness, this will make the planet to drop
downwards, the downward acceleration at which the planet
will drop depends on the extent of reduced thickness of
space-time. Hence, the reduced thickness of the lines around
the masses in Figure 3 implies that the mass of the planet is
essential in determining g, this is why we have different
g for planets, the bigger the mass, the higher the g. This
whole explanation comes down to the fact that Gravity and
Space-time are one. G and g is simply a way of measuring
the thickness of space-time through acceleration, we can
alternatively use S and s (Sseretchea @NA Sqefaute), read [7].

So, when Newton said g = ‘i—’f it simply means ©’If a planet

with mass M and radius r floats on Zero G (default space-
time thickness), what will the new reduced space-time
nature (g) be inside the planet? We then procced to insert
the mass and radius of the planet with the constant G to get
g. This new reduced space-time nature (g) is represented by
the reduced line thickness inside the masses in Figure 3.
However, there was a loophole.
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GRAVITY LOOPHOLE

GM
9=7

m3
_kgs? x kg
==
m: 1

=— X —
9= "z

m
g_sz

3 2
Inverse the unit of G here % to get k:l_;’ and re-insert as the unit of g in the equation g = i—':' to find the unit of G;
GM
=—

_gr

G
M

If we reverse and swap units, we get the inverse still, thereby displaying the connection between G and g. The reason for the
using inverses is that Gravity and Space-time are one;
SxG6G=1

(1.5 x 101%) x (6.6666666667 x 10711) =1
But mathematically, to get one will be the inverse of the other;

1
6.6666666667 x 10711

=1.5x 10"

Hence, the loophole is that we can inverse and swap the units for G and g, making any unit of G to be the unit of g also,

. . . . . . . 2 kgs? .
thereby creating an entire new line of gravity equations with units for G and g as > and =2 or vice versa, because
3
and vice versa.

when describing Zero G with space-time (S), the units then become sﬂz and k';'sz
If the gravity and space-time are one, and the default space-time goes with Zero G, then we can confirm that G can
carry a unit of acceleration by describing with S and s (S for default space-time, s for stretched space-time);
0y _ SstretchedM

default — T

sM
S = T_Z
3
m
_kgsz x kg
m2
m 1

_X_
sz m?

m
Sdefault ~ZeroG = S_z

Read [2] and [7] for more explanation.
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You might ask; what entire new line of equations? What
could be missing in gravity theory? Is there something about
Gravity that Newton and Einstein couldn’t tell us? This
entire new line of gravity equations resolves the second point
which says;

e The “’Energy’’ of stars is supposed to be significant
enough to be represented in a gravitational theory
subject equation.

Hence, we have some digging to do.

- Earth’s Energy Cooling Process

’\_g‘ o] y \_»\ij
CREATION

=

Figure 4. Planet formation process

_ PROCESS _ FORMED

Listen, we use Newton subject equation (g = i—'zw) to do

calculations for a normal planet, and we also use this same
Newton subject equation to do calculations for a star, where
was the mistake? The loophole leads us straight to resolving
this point because this entire new line of equations justifies
gravity through energy, which was carried by planets at the
point of creation. We had evidences like erupting volcanoes,
lava etc. which proves that our planet Earth was hot back
at the point of creation i.e. it carried an energy(c) just like
the stars. This justification of gravity through energy is as a
result of how planets were formed during creation. Planets
default form was energy, from energy to matter (mass).
Energy conversion to matter according to Einstein, is done
with ¢? through E = Mc?, this was how planets were formed.
However, after formation into a mass, the mass still harboured
energy just like the appearance of the sun presently. This
mass with harboured energy still needs complete formation
whereby the energy disappears (cools) which further completes
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the formation. To enable this energy to cool/disappear with
time, we need the help of gravity through the fine structure
constant. Theoretically, the reason why we need the fine
structure constant « is that; the fine structure constant
represents the absorption of a photon by an electron. The
energy harboured by the planets are photons in quantum
form, the already formed mass (matter) are represented
by electrons in quantum. We then remember that when an
electron absorbs a photon, the photon disappears and the
electron moves to a higher state, this represents the reason
why formed planets don’t harbour energy presently. The
energy cooled off (disappeared) with time with the help of
gravity (curvature), assisted by the fine structure constant.
The issue is that; other than Newton’s subject equation
(g= GT—IZW), there was another way to describe gravity and it
is through the presence of energy carried by stars but it will
mean one thing. If Newton gravity Equations can be used
for both planets and stars, and Jessii’s Equations used to
justify gravity through energy, it only means one thing
which is the fact that all formed planets presently were once
stars, with gravity having a two-face subject equation. This
fact will then imply that Jessii’s subject equation (g = 2

c2r
can also be used for planets and stars.
First Face (Newton);

GM
9= 7z

Second Face (Jessii);
9=

The bridge between Newton gravity subject equation and
Jessii gravity subject equation is;

You can see a g in the first face and a clz in the second
face, that’s the bridge. This is no ordinary bridge in physics,
this bridge revelation is the root of the Jessii’s new line of
gravity equations which also reveals a big secret in
physics/astrophysics. Use the illustration/calculations and

description below for Step 1 to Step 7. Read [2] for more.

JESSII GRAVITY EQUATIONS DEFAULT PLANET: EARTH
STEP 1 RADIUS OF EARTH
r = Gc?
r = Gc? = (6.6666666667 x 10711) x (3 x 10%)?
r=6x10°m

STEP 2 ACCELERATION DUE TO GRAVITY FOR EARTH
g = E _ 2c

AT g = r
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_[2x(3x10%)
9= Tex105

g =10m/s?

STEP 3

MASS OF EARTH

9 cr

GM
9=—3

M = Ggc*

M
9=
M = gc*r
M =10 X (3 x108)% x (6 x 10°)
M =5.4x10%*kg

Using Newton equation for confirmation

B 10 x (6 x 10%)2
" (6.6666666667 x 10-11)

M = 5.4 x 10**kg

Using M = Ggc*;
M = Ggc*

(6.6666666667 x 10711) x 10 x (3 x 108 )*

M =5.4x10%kg

STEP 4

ROTATION PERIOD OF EARTH

ag’r?

Trat =

ag?r?

Tror = c

0.0072 x 102 x (6 x 105)2
(3 x 108)

rot =

Tyor = 864005

86400

T,o¢(hours) = 3600

T,o:(hours) = 24hours

STEP 5

REVOLUTION PERIOD OF EARTH

— @25
Trev_“gr

— 25
Trev_agr

(0.0072)2 x 10° x (6 x 10°)

T,0, = 311040005
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31104000

Trev(Days) = 86400

T,ev(Days) = 360Days

STEP 6

EARTH DISTANCE APART FROM THE SUN

Torbit(earth
rorbit(earth) orbit(earth)

2

_ GM sun®@9g
rorbit(earth) - r
sun

2 (6.6666666667 x 10711) x (2.6666666667 x 103°) x 0.0072 x 10>
- Sty N 8x 108
rsun
Yorbit(earth) = 1.6 x 10"m
STEP 7 EARTH’S REVOLUTION PERIOD THROUGH FORCE OF ATTRACTION
e GM, M, Newton Force of attraction equation;
=—z
_ GM M,
A~ TZ
6.6666666667 X 10711 x (2.6666666667 x 103°) x (5.4 x 10%%)
(1.6 x 1011) 2
F, =3.75 %X 10%*N
crT,
Trey = __ T Trot
GFAagsun
rToor (3 X 108) X (6 x 10°) x 86400
70
Tev=7—7— 6.6666666667 x 10711 x (3.75 x 10%22) x 0.0072 x 277.77777778
GFAagsun

Tye» = 311040005

31104000

Trev(Days) = 86400

T,ev(Days) = 360Days

G

Step 1: We can cross multiply the bridge ciz =-to form

an equation as r = G¢?. We then realise that two constants
represent the radius of a planet, why? Curiosity will lead us
to the fact that there are two major scales in physics
(quantum/microscale and macroscale), and there are lots of
particles in quantum but only the values for an electron can
be directly gotten by combining physical constants, thereby
making an electron the particle for unification in physics,
values for an electron then leads to a photon value. Back to
the macroscale, the only possible planet that the physical
constants of the universe could lead to, is planet Earth.
When deriving formulars, | had to be so sure that it is planet
Earth, | then proceeded to find the acceleration due to
gravity of this planet.

Step 2: g will be justified if the planet has formed
completely, justification of g means internal cooling of
energy. Rotation will enable this internal cooling as derived

in[2]. g = \/% reveals g for this planet as 10m/s?.

Step 3: Values of r and g for this planet aren’t enough to
conclude that the planet is Earth, we have to find the mass.
To find the mass, we can use both the first face subject
equation (Newton) and the second face subject equation
(Jessii), both gives the same result. The Mass of this planet
was gotten as M = 5.4 x 10**kg.

Step 4: | explained in [2] the reason why the fine structure
constant as an absorption factor is a member of the gravity
family, it is the most powerful parameter relating to Time
when it comes to gravity. Because the macro is made up
of the micro, the fine structure is not only for the quantum,
but for the macroscale also. We can’t get anything “’Time”’
as related to planets at the outer space without the help of an
absorption factor (fine structure constant). No scientist knew
this because they all neglected the fact that it is obvious that
planets were formed from a process, energy to matter which
also needed absorption. Hence, energy disappearance was
needed through cooling for complete planet formation. For
cooling, we have internal and external cooling of energy.
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Rotation aids internal, revolution aids external. The
absorption of a photon by an electron (represented by «) ina
planet is answerable to one complete spin and one complete
revolution of that particular planet. With this knowledge,
we can all smile because through the absorption constant,
we can calculate the time it takes for our planet to complete a
full spin and to complete a revolution around the sun. For
rotation, we have;

ag’r?

Trot = c

See [2] for derivation.

Step 5: By appearance, a planet might seem to harbour
energy but it could just be at the surface to some extent,
thereby affecting its appearance. Meanwhile, internally would
seem to be no energy present. Hence, revolution is needed
for the external. Revolution of a planet means we need the
help of the planetary body (sun) causing the curvature. Step 5
formula is a confirmation that Step 7 is correct, they both go
together. For Earth, because we already know the value of
our absorption factor (the fine structure constant), we can
proceed without important details like distance apart and
force of attraction, with the short formular as;

Tiew = azgsr
The reason is that the absorption factor is a combination of
factors like distance apart, attraction, rotation etc. Hence, the
absorption factor as a value can increase or decrease.
Step 6:
GMsnag?

Torbit(earth) = r
sun

The Sun represents the body causing the curvature while
the Earth represents the planet affected by the curvature.
Hence, we can also use the above formula for situations
like a planet and a moon (Earth and the Moon). Perhaps,
the most important in the equation is the absorption factor
(fine structure constant). The aim is to get the absorption
factor (fine structure constant) not the distance apart (orbit
radius), because the fine structure constant as an absorption
factor determines the revolution period. You have to insert
the distance apart to get the absorption factor «, so that you
can use this absorption factor to get the revolution period
for any planet. Hence, the absorption factor as a value will
change for other planets and their distance apart. The reason
why | did the reverse is because values for Earth aligns with
the physical constants, so | already knew that for Earth,
the absorption factor as a value will be the fine structure
constant, | just wanted to get the accurate distance apart
from the Sun to the Earth since I don’t have an idea of the
force of attraction. It is only Earth that | can get its accurate
distance apart without NASA’s help or doing an observation
because Earth aligns with the physical constants. Hence,
for other planets, when you know what the distance apart is,
make a the subject of the formula, find «a as;

_ Torbit? sun

- GMsungz

Once you have gotten the absorption factor a, all
other issues are automatically solved. Note: r,,p;; is the
distance apart.

In [2], exact values for the Sun (Table 1) were gotten
through exact values for Earth. Read [2] to see how the
tracing was done.

Table 1. Values for Sun

SOURCE UPE (Theoretical/Exact) PI CODE
MASS 2.6666666667 x 103°kg \A%
RADIUS 8x 10%m 8
ACCELERATION 2
DUE TO GRAVITY 277.77777778m/s \AY

Step 7: If you think Newton’s force of attraction doesn’t
have any further progress, you’re wrong because with my
line of equations, in another way, we need Newton’s force of
attraction to also get the revolution period of a planet. The
reason is the full description as Figure 5 and 6.

Figure 5. Planet formation through revolution I (Before)

€L EARTH

Figure 6. Planet formation through revolution 11 (After)

All planet/planetary body appearance was like the sun
(Figure 5) i.e. all planets were stars before complete
formation (Figure 6). The question is; why did some planets
remain as stars up to this present time? the answer is
revolution. Any planet still in form of a star means they are
the cause of curvature and they don’t revolve round any,
meanwhile any planet in constant revolution will change
(transform) with time. Precisely constant revolution T,.,
through a curvature G causing an attraction F, between
both planets M,and M, with a distance apart 72, aiding
energy (c) cooling through an absorption factor a, hence
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the smaller planet affected by the curvature rotates T,
while revolving around the bigger mass. This explanation
leads to a formula as;

_ CrTrot
rev GFAagsun
Whereby F, is Newton’s force of attraction by using;
GM,M,
AT T2
r

This method is kind of a longer route. Alternatively, the
absorption factor represents a combination of other factors
like distance apart, attraction, rotation etc. Hence, we can
get the absorption factor and go straight to get the revolution
period with;

Trev = azgsr
Both ways produce the same result.

Figure 7. Planet’s Time

Note: The time gotten will be in the planet’s time i.e.
Earth for Earth days, Mars for Mars days, Neptune for
Neptune days etc. Currently, NASA doesn’t have results
for time as a planet’s time, they have results for how long
it takes a planet to rotate/revolve in Earth’s time. The
reason is because we haven’t been to these other planets,
so don’t use NASA values to compare your results for
other planets. See [2] for how other results for other
planets were gotten.

For example;

On Earth, we observe the Sun rise to Sun set period, try to
break it down in hours to minutes to seconds, getting
86400seconds, this resulted to using 3600 for division to get
a complete day. In [2], the result for Mars in Mars Time was
calculated as 37500seconds for a full spin and 328.05Mars
Days for revolution. On Mars, it won’t be 3600, it might be a
lesser value, 1 seconds as compared to Earth might be longer
but however it goes, calculations through these formulars

Ultimate Gravity

tells us that a full spin on Mars Time as related to the time it
will take Mars to revolve round the sun is 328.05 Mars Days.

Note: Only Earth values gotten through the physical
constants are 100% accurate. The values for other planets
will have to be confirmed observationally after arrival.

The conclusion of all these calculations is that; If we look
deep, we see that without the exact Pi value, we can’t get the
exact values for the physical constants. Also, without the
exact values for the physical constants, we can’t get exact
values for planet Earth.

See [2] for complete derivation of all formulars with
complete explanation.

2. Wrap Up

Everything in this paper has already been explained/
revealed in [2], check it out. My Grand Theory (Ultimate
Relativity) opposes a lot of established theories/values (lies)
in physics including the CODATA values, NASA values, the
Pi value and its definition, the Riemann hypothesis about
prime numbers and many more. Just because | would want
my theories to go viral, you don’t expect me to dance to these
tunes that the physics community play, when we all know
they are all lies. It is not my fault that these already established
theories and values are wrong and I tried as much as possible
to see if they were correct, but many didn’t align with the
truth but some did, like Newton equations, Einstein descriptions,
Babylonians Pi value discovery etc. People can only be
deceived for some time but not forever unless they are fools.
The truth (Ultimate Relativity) in physics is out there and
the lies are also out there. Doesn’t matter how long it takes,
it’s only a matter of time before people hate the lies and turn
to the light in truth.

All theories and new equations in this paper are novel, all
proposed by Prince Chimobi Igbogjesi.

REFERENCES

[1] Prince Jessii, The 16™ Greek Letter, International Journal
of Theoretical and Mathematical Physics, Vol. 14 No. 1, 2024,
pp. 11-15. Doi 10.5923/j.ijtmp.20241401.03.

[2] Prince Jessii, God’s Eye: Physics of the Universe (2),
International Journal of Theoretical and Mathematical Physics,
Vol. 14 No. 4, 2024, pp. 121-151.
Doi 10.5923/j.ijtmp.20241404.02.

[3] Prince Jessii, Ultimate Relativity: = Theory, International
Journal of Theoretical and Mathematical Physics, Vol. 12 No.
2, 2022, pp. 32-62. Doi 10.5923/j.ijtmp.20221202.02.

[4] Prince Jessii, (Ultimate Relativity) vs (General Relativity),
International Journal of Theoretical and Mathematical Physics,
Vol. 12 No. 2, 2022, pp. 32-62. Doi 10.5923/}.ijtmp.20221202.02.

[5] Prince Jessii, Ultimate Physics Equation: The Last Revolution in
Physics (Deluxe), International Journal of Theoretical and
Mathematical Physics, Vol. 11 No. 3, 2021, pp. 106-133.



International Journal of Astronomy 2025, 14(1): 1-9 9

Doi: 10.5923/j.ijtmp.20211103.03. 04.02.

[6] Prince Jessii, Ultimate Relativity (Four Zodiac): The secret [7] Prince Jessii, The God Equation: Theory of Everything,
origin and distribution of Prime numbers (physics of numbers), International Journal of Theoretical and Mathematical Physics,
International Journal of Theoretical and Mathematical Physics, Vol. 11 No 3, 2021, pp 77-98. Doi 10.55923/j.ijtmp.202111
Vol. 13 No. 4, 2021, pp. 92-125. D0i:10.5923/j.ijtmp.202313 03.01.

Copyright © 2025 The Author(s). Published by Scientific & Academic Publishing
This work is licensed under the Creative Commons Attribution International License (CC BY). http://creativecommons.org/licenses/by/4.0/



